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oIfss : 100

.Mra.x imum Marks : 100

e : Wﬁﬂﬂ#éﬁ@ﬁ%‘ 40 3T T 7Y

TR 9uq gv fyEe & TAE 3P A 15
3P B UB-Us w97 f6a1 = B

Note: Answer five questions ir all, Short answer

type Question No. 1.Carrying 40 marks is
Compulsory. AnsWer one question carry-

ing 15 marks from €ach ynit,

5 PT.O.
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A :

-t w7 77 F1 AUBAH W1 200
Fon - 3ad g = TR B JiIGaH T 500

I Bl

Npte :The answers to s"0rt answer type ques-

A

tioﬁs sﬁomd nr- =xceed 200 words and

the answers tc ©ng answer type ques-
}
tions should not =xceed 500 words.

(i) 53-26 @ A 7= B :

Find 5A-2B : 4x10=40
¥= 2 4 B )
TR (If) A - a8 -4 74 (and)
‘E =5 10 15]
= -10 20 -10

(i) x &7 ¥HF TG Doy o
Find the value of x, if:
(2x+1) 1]
=3
[(x—li 1]
(iii) 8% TR TTS B &R F 48 7 A qr 3
forr 3t b 2 5 @y Be
In order to get ¥ 48 as simple interest

in a year @ 8% per annum how much
should be deposited today?
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(iv) 6000 & TR 12 HIE BT 6% B & ¥ THI(&
TSt 5 A, el saret e TG
grar 21

Find compound interest on Rs. 6000 for
12 months at 6% compounded quar-

terly
(V) x & 908 Feae Diord-:
! differentiate w.r.t.x.
8x’ex
(vi) x @1 A 31d B3 576 o s srgera
P
gl

Find the value of x/gr which function is

optimum http://www.mgkvponline.com
4x3-15x?+ 13x+7

(vi) x & TU& FHIBEH DISHY-:

-

Integrate w.r.t.x.

4]
(viii) gherT fifey a1 R Bifsry-

Define sinking fund.

7
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(ix) URae ey 3 gt & Fifea wamt & amen
By |

Explain the steps involved in the solu-
tion of a transportation problem.

(x) Wa® BRIt & i 4 Srmit @ fRe

Write any 4 limitations of linear pro-
gramming.

TOR-NUT / Unit-I
2. ﬁABEﬁBAﬁHHﬁ%ﬁI 15
Find AB and BA

3 = g=3 1
afe (1f) AJ*— 1 td (and) B=|5 1
] 35

Solve the following simultaneous equation
by Matrix method:

5x-6y+4z=15

/x+4y-3z=19

2X+y+62=46

8
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gorR-ficd / Unit-11 15
4000 W 1%2 &% T Bl e 71F Hd
Fale @S @ 10%6 Fia gE wwaty B 2
Find compound interest on Rs. 4000 for 1
years at 10% per annum when interest com-
pounded half yearly.
Juar / OR
U AS! &1 F7= e § v | 5= 50000
oY & 3 H 15 35 =% o4 & F&F AT 27 5%
Find the present value of an annunity of »
5000 payable at the end of each year for 15
years, the interest '
compouned r:mrm‘llJ:J

5o1E-gdi / Unit-111 15

(i) 2x*-21x2+36x+11 T 3ftidaa o9 ey
qH §A B
Find the maximum or minimum vaiye
of 2x3-21x2436x+11

(i) x & Tier wEEET B

Integrate w.rt.X.

ing 5% per annum

log x.
* 9

P.T.O.
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co

Sy / OR
Rt e BT x & @i FAE DI

i i JREXE
Differentiate the following fUi;Ctl;lzI‘IS wW.r.
ac +

i) SE-ad ) TFoe

W“ﬂ@?j / unit-IV 15
WWWW#AH%BWasW
i &1 A &1 ged 8 ¥ AT A a1 B @1 T 4
% Ry 7 &1 dow W & o I 9 Py 2009
%Iuﬁ%ﬁﬁTAé}ﬂ'%WHEEHﬂTBaﬁqﬁm
o 1 % ET BT &, 2 AT AR aT AT B
3 oy Riipe B T® aod & oo A @ded
e as orimd B 5 TR B ok
W%Wﬁ?ﬁﬁgﬁ@m%ﬁsﬁﬁ
|

A seller purchases two types of bulbs A and
B from a bulb manufacturer. Bulb A costs ¥ 8
per unit and B costs ¥ 4 per unit. He has

z 200 to buy the bulbs. If the seller earns a

10
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profit of Rs. 2 per unit of A and Rs. 1 per unit
of B, then how many bulbs of each type the
seller should purchase to get maximum
profit? Write the mathematical formulation
of the Iineélr programming and solve this
'pi'oblem draphically.
Fyar / OR

IR aiaw BT [ & wam o g FefeRad
uRae TH &1 RN T el T DIord:-
Obtain an initial basic feasible solution to the

following transportation problem using the

i
North-West cornerl rule.

D E F G |Supply
A 11 13 |17 14 | 250
B 16 | 18 |14 | 10| 300
C 21 | 24 {13 | 10| 400
Demand|200 | 225 (275 | 250 . |
i P.T.O.
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